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\ » Selecting three each from
Section—| and Section—II and two fom Section—III,

* Candidates are required to give their answers in their
] Own words as far as practicable,

* All questions haye been printed both in Hindi and
nglish

sh. In case of any ambiguity in Hind; version,
the English version shall be considered authentie,

* Parts of the same question must be answered

together and must not he interposed  between
answers to other questions
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SECTION—]
gue—I

“The Santhal Hool began in 1855. The core of
the movement was economic, the basic cause

of the uprising was agrarian discontent.”
Elucidate.
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38

Critically analyze the progress of the Revolt
.of 1857 in Bihar.
fogr #® 1857 % fEk $ wife & AR

o K|

38

Bvaluate Mahatma Gandhi taking into

account the Champaran Satyagrah in
38

particular.
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Point out the main features of Patna Qalam

/ ~ or Kalam. 38
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5. Throw light on the progress of Peasants’
Movement in Bihar during the course of
National Struggle for Independence. 38
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- SEcTION—II
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6. Indian farmers are beseiged with problems
/ and as many of them think that the ultimate
solution is unfortunate painful suicidal
attempts. Assess the factors responsible for
developing this situation and present your
remedial views. 38
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7. Bihar is a rich State regarding its human
/ resources, in spite of that its contribution
in national and international game
competitions is insignificant. Discuss the
reasons behind this and bring out
suggestions to improve this situation. 38
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8. The role of Pakistan has never bee:n 12;5;:‘;
nor co-operative in solving Kashm.lr e
spite of India’s best efforts: Review 1n t
light of recent incidences 2nd SuBSES ”
possible measures to condude this issue.
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9. The feeling of region, race, religion rather

than nationalism in India is detrimentz.al
to the development of the nation. Is this

true? What would be the suitable polic_x:' for
the balanced development of diversified
India? Discuss. 38
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10. Almost every year Bihar suffers with natural
hazards, in spite not yet any policy or project
has been brought out by agencies. Do you

have any policy or project to get relief from
the losses? 38
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SECTION—II]
@uve—III

11. The following bar chart shows the trend of
FDI in India from all over the world :

(@)

(b)

Trend of FDI in India

35

31:36
30 L
Inc}ia'a FDI
25 (millions of Euros) 24-23 N
20 _
15 -
10-15 oy 10-22
10 A Ly
57
5 -
077992 T1993 T 1994 11995 1 1996 1 1997 |

What was the ratio of investment in
1997 over the investment in 19927

If in India FDI from OPEC countries
was proportionately the same in 1992
and 1997 as the total FDI from all over
the world and if FDI in 1992 from OPEC
countries was Euro 2 million, then what
was the amount of FDI from OPEC
countries in 19977

Which year exhibited the highest
growth in FDI in India over the
period shown?

(d) What was India’s total FD] for the period
shown in the figure? ' 36
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12. Study the following graph and table and
answer the guestions given below :

Data of different States regarding population
of States in the year 1998

Total population of the given States = 3276000

Sex- and [.dpruryu-luae populanon Rato
Statea Sox Liferocy
M F l.iderate Miterale

AP o J 2 7

MP 3 1 | &
Delhi 2 3 2 1

Goa a 5 3 2
Bihar 3 4 4 l

up 3 . 7 2

™ J 4 9 L]

fa) What was the percentage of total
number of males in UP, MP and Goa
together o the total population of all the
given Slales?

(b) What was the total number of illiterate
people in AP and MP in 19987

BVP/M-2018-02/7 ( Turmn Over )

https://www.freshersnow.com/previous-year-question-papers/ Scan ned by Cam Scan ner



(c) whlli:lthemdﬂ!numwﬂf
females in TN 1o the number of females
in Delhi?

fd) Iﬂlht'}'rnr 19698, there was an increase
of 10% in the population of UP and
12% in the population of MP compared
to the previous year, then what was
the ratio of population of UP and MP
in 19977 36
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13. Composition of GDP of two countries, India
and Pakistan of g year, is given in the graph
below. All figures are in € crore :

Composition of GDP of two countries
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If the total GDP of Pakistan is ¥ 10,000
“Tore, then what js the GDP accounted
b for by Mmanufacturing?

) What fraction of India’s GDP is
accounted for by services?

o .

(c) W}uc‘:h country accounts for higher
carning  out of services and

(d) mlscellancous together?

If the _total GDP is same for both the
countries, then what percentage is
Pakistan’s income through agriculture
over India’s income through services? 36
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14, -
1?ht‘udy' the following line graph which gives
€ number of students who joined and

left the school in the beginning of year for six
years 1996 to 2001 -

Initial strength of school in 1995 = 3000
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F:Ol" Whjch the school during 1999?
E?f{liaeu N the number of students who
\€ School compared to the previous
Year 1s maximym>
E‘l_}:e numb]ar of students studying in
€ school in 1998 was what percentage
of the number of students studying in
the school in 20017
What is the ratio of the least number
of students who joined the school to
the maximum number of students
who left the school in any of the years

(d)

the pumber of students

year, the percentage of

.during the given period? 36
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